optiserv®

OptiServ[®] Hands-Free Dispensing System



Wausaupaper®

1150 Industry Road • PO Box 189 • Harrodsburg, Kentucky 40330-0189 • 800.723.0001 • wausaupaper.com

optiserv[®] RUGGED RELIABILITY FO



The OptiServ[®] hands-free dispensing system offers the hygiene of hands-free dispensing without need for batteries. Metered dispensing discourages waste and controls cost. The OptiServ[®] is easy to use and accommodates up to 1,000 feet of toweling, making it ideal for high-traffic facilities where cleanliness is essential.



HASSLE FREE OPERATION

With each pull of the slightly exposed towel, the OptiServ[®] dispenses and cuts a single 11-inch towel so a new towel is ready and waiting for the next patron. With no settings to adjust and no levers or buttons required to operate, the OptiServ[®] is sophisticated simplicity. The dispenser operates without batteries, making it perfect for high-traffic facilities.

PERFECT FOR HIGH-TRAFFIC AREAS

The OptiServ® accommodates up to a 1,000 foot roll and utilizes an innovative stub roll transfer system to optimize capacity, reducing service interruptions to keep traffic moving. Translucent covers allow staff to see at a glance when it is time to refill the dispenser.

FITS YOUR SPACE

A variety of towel grades and lengths provide multiple options to fit a range of preferences and budgets. The OptiServ[®] is available in five translucent colors to complement any facility's design, and can even be imprinted with a company name or logo for a unique, coordinated washroom experience. The OptiServ[®] can be configured to open from the left or right, increasing the options for placement.



ADA Title III Compliant

The OptiServ[®] is ADA Title III compliant when installed according to the guidelines outlined in the ADA Standards for Accessible Design. Paper is easily dispensed with one hand, with less than 5 lbs. of force and without tight grasping, pinching or twisting of the wrist.

R HIGH-TRAFFIC WASHROOMS



The OptiServ® promotes hygiene

HANDS FREE You touch only your personal towel, greatly reducing the risk of cross-contamination

REDUCES BACTERIA Paper towels reduce the number of bacteria on hands, unlike warm air dryers which can increase and spread harmful bacteria in the washroom

HACCP The hands-free design supports the principles of HACCP (Hazard Analysis and Critical Control Point) as an important preventative measure in avoiding cross-contamination



The OptiServ[®] is environmentally preferable

CONTROLS USAGE Metered dispensing of one pre-cut, pre-measured towel discourages paper waste

GREEN SEAL™-CERTIFIED TOWELS A variety of 100% recycled Green Seal™ - certified towels are available in lengths of 425, 600, 800 and 1,000 feet

INNOVATIVE TRANSFER ROLL A built-in transfer roll feature eliminates stub roll waste and reduces service interruptions; a new roll starts only after the stub roll is depleted



The OptiServ[®] controls costs

PRE-SET TOWEL LENGTH Each pull dispenses a single 11" towel to discourage waste and control cost

HIGH-CAPACITY ROLLS High capacity supplies of up to 1,000 feet ensure uptime and reduce maintenance costs

LOCKING COVER Locking cover prevents pilferage and waste

MAINTENANCE AT A GLANCE The translucent cover saves maintenance time, as staff can see at a glance when it is time to refill the dispenser

CONTROLLED-USE ROLL TOWEL DISPENSERS

No./ Translucent Color			Name	Dispenser Size (W" x H" x D")	Dispenser Weight	Case Size (W" x H" x D")	Dispenser Case Cube	Cases/Unit
	86800 76700							
	86830 76730							
	86840 76740	F	opti serv °	121/8 x 16 ¹³ /16 x 9 ¹³ /16	6.9 lbs.	161/8 x 101/8 x 121/4	1.21	100
	86850 76750							
	86860 76760							

WAUSAU PAPER OFFERS A COMPLETE LINE OF PREMIUM AND 100% RECYCLED CONTROLLED ROLL TOWELS, INCLUDING GREEN SEAL[™]-CERTIFIED ARTISAN[™], DUBLNATURE[®] AND ECOSOFT[™] PRODUCTS.

No.		Name	Color	Roll Width	Feet/Roll	Rolls/Case	Feet/Case
CONTROLLED-USE ROLL TOWELS - FOR USE WITH 800 SERIES OPTISERV®							
31040	en ster	DublNature®	White	8″	1,000	6	6,000
31000	Central Stee	EcoSoft™	Natural	8″	1,000	6	6,000
38040	CERTIFIC	DublNature®	White	8″	800	6	4,800
31400	en ster	EcoSoft™	Natural White	8″	800	6	4,800
31300	en Inte	EcoSoft™	Natural	8″	800	6	4,800
30620	Centific	Artisan™	White	8″	600	6	3,600
36040	en ster	DublNature®	White	8″	600	6	3,600
30320	en ster	Artisan™	White	8″	425	6	2,550
31900		EcoSoft™	White	8″	800	6	4,800
31600		EcoSoft™	White	8″	630	6	3,780
31500		EcoSoft™	Natural	8″	630	6	3,780

CONTROLLED-USE ROLL TOWELS - FOR USE WITH 700 SERIES OPTISERV®

71040	Star Star	DubINature®	White	7½"	1,000	6	6,000
71000	Starting	EcoSoft™	Natural	7½"	1,000	6	6,000
78040	Seattle	DubINature®	White	7½″	800	6	4,800
71400	Seattle	EcoSoft™	Natural White	7½″	800	6	4,800
71300	Seattle	EcoSoft™	Natural	7½″	800	6	4,800
70620	Seattle	Artisan™	White	7½″	600	6	3,600
76040	Seattle	DubINature®	White	7½″	600	6	3,600
70320	Starting	Artisan™	White	7½"	425	6	2,550
71900		EcoSoft™	White	7½"	800	6	4,800
71600		EcoSoft™	White	7½"	630	6	3,780

PLEASE RECYCLE

©2013 Wausau Paper 0SV-001/1214-10M

Printed with soy ink on Green Seal and FSC-certified paper.



Availability and specifications are subject to change.

*These products meet Green Seal™ Standard GS-1 based on chlorine-free processing, energy and water efficiency, and content of 100% recovered material with a minimum of 50% post-consumer material. GreenSeal.org.